Hyvdraulic Vane Pum ‘ ®
TEaRBRES ‘ y p

Hi-Low System DAIWER

Low Pressure Vane Pump + Hi-Pressure Gear Pump

50T +vQi15
150T+VvQ15
SYMBOL
. ORDERING CODE |
KT — I — JROK 1_%_0—[] 01: No.1, Shaft
T —_ _— 1 . —’— i : o.l, a
Design Number 45, No.2, Shaft
Hi-Pressure Vane Pump (Cover End)

Capacity Mark (c.c/rev)-
8,11,14,17,19, 23, 26, 31

Hi-Pressure Vane Pump (Cover End)
V1: VQ15 Series

Discharge Port Position
(Viewed from Shaft End)
R : On Right Hand

L : On Left Hand(normal)

Shaft Rotation

(Viewed from Shaft End)
R : Clockwise

L : Anti-Clockwise

Type of Mounting
L : Foot Mounting
F : Flange Mounting

Shaft End Pump: Capacity Mark (c.c/rev)
50T:12, 14,17,19, 23, 26, 30, 36, 42
150T: 48, 61, 75,94, 116

Piping Mounting
T: Piping Type
F: Flange Type

Series Number-
50T-
150T-




Hyvdraulic Vane Pum ‘ ®
TEaRBRES ‘ y p

Hi-Low System

Low Pressure Vane Pump + Hi-Pressure Gear Pump DAIWER

| DIMENSIONAL DRAWING |

50T+VvQ15

3
e
I © 1 o
- — e} —
L EY "
4-911HOLE n
924 SPOTFACER 1 DEEP 20"
S 7).
50 29.5
93
A |[BIC|D|E|F
No.1-shaft|219.05| 36 |4.76/21.3| 22 | 95
No.2-shaft| 222 | 46 | 5 | 24 |30 | 9%
415 565 155 B ‘4g
11 .
50 5 WOODRUFF KEY PT 3/4
SUCTION PORT 928 4-M8X1.25P NoB0T 89 102 DISCHARGE PORT
DISCHARGE PORT DEEP 15 15 PT 1"
IERAY Th— / SUCTION PORT
|4
— gr— ~Nm ~
Q0 ; /’éifii;;\ y ;$ 3 3 g 2
- 'S e =Y | —
5]
& -& kJ &8 s [
g 0d| o5
L/
| <| O]
DEEP 17

\ 2-M12X1.75P

DEEP 19

150T+VQ15

55 198
1
m PT 1 1/2" PT 1 1/4"
I SUCTION POR DISCHARGE PORT
o
~
A= ©o
5
©
0
S
4 T
i
114
140 ":
356
56.5 40 160 S3 $13.5X6 HOLES
PCD 9187.5
SUCTION PORT 15
——;EE—————W\DBCHARGE PORT
R 5
= . | 35
: R I'__:l_i’_ 8
(o] o| o
2 ) 2lg
D H - A
Lk §| o
R r 11 ?Kes
Q| M
— s sl
4-M10X1.5P / 6.2/ 7.
DEEP 17 /4-M8X1.25P

DEEP 15




‘ Hydraulic Vane Pump S

EESEBRES

Hi-Low System

Low Pressure Vane Pump + Hi-Pressure Gear Pump DAIWER

50T+TSP

142

—
I — 1 = | 3|
E==E S
‘__ 4-911HOLE R
/ 924 SPOTFACER 1 DEEP
il |
50 | 29.5
A |IB|C|DJ|E]|F 93
No.1-shaft|219.05| 36 [4.76]21.3] 22 | 95
No.2-shaft| 22 | 46 | 5 | 24 [ 30 | 96
SUCTION PORT 142
212 119
106 18 PT 3/4"
s o 1550 5 I._—.19°*°~2 DISCHARCE. PORT

17.8%84
\\w
‘e,

7.

%

N
E— N
Tm
(4]

©0 o~ " o 9’_
; 3 é &i s %% h ,,?; al=
23|90
<l o
-/ J
2XM10X1.5P \ g15.8810"' 4—011
DEEP 15
150T+TSP 198
55 ~—
PT 1 1/2"
r SUCTION {’ORT WY

DISCHARGE PORT

84021

+

7
976
|
W
i
976

wn
4-013.5HOLE =
| $25.4 SPOTFACER 1 DEEP -
ST TPy ~
114 13 |50 |
140 | 197 |
230
285
160 53 813.5X6 HOLES
PCD #187.5
6 1§ 5
55 5
f 35
3 "
2 42 s
w33 ~ L 1 )
S ol
sy INEE — YRS
® s 8l e
Tles
QI3
2-M10X1.5P
P.C.D.8106




